



A STUDY OF GENERALIZED PARTIAL MOCK THETA FUNCTIONS

SWAYAMPBABHA TIWARI, SAMEENA SABA,*MOHAMMAD AHMAD

ABSTRACT. S. Ramanujan in his last letter to G.H. Hardy has introduced seventeen mock theta functions of different orders (3, 5 and 7) without explicitly mentioning the reason for his levelling of order, later Watson added to this set three more third order mock theta function. Watson also defined bilateral form of some mock theta function of order five and expressed them in terms of Lerch transcendental functions. Partial mock theta functions of sixth order were studied by Y.S. Choi and partial mock theta functions of third order were studied by G.E. Andrews. In this paper we have given generalization of partial sixth and third order mock theta functions and it is shown that these generalized partial mock theta functions are F_q functions. q -integral representation of these generalized partial mock theta functions are also given. We have also expressed some bilateral mock theta functions in terms of Lerch transcendental functions $f(x, \xi; q, p)$.

1. INTRODUCTION:

S. Ramanujan in his last letter to G.H. Hardy [14, pp 354-355] introduced seventeen functions whom he called mock theta functions, as they were not theta functions. He stated two conditions for a function to be a mock theta function:

(a) For every root of unity ζ , there is θ -function $\theta_\zeta(q)$ such that difference $f(q) - \theta_\zeta(q)$ is bounded as $q \rightarrow \zeta$ radially.

(b) There is no single θ -function which works for all ζ i.e., for every θ -function $\theta(q)$ there is some root of unity ζ for which difference $f(q) - \theta(q)$ is unbounded as $q \rightarrow \zeta$ radially.

2010 *Mathematics Subject Classification.* 33D15, 11B65, 11F27.

Key words and phrases. Basic hypergeometric series, partial mock theta functions, q -integral, Lerch transcendental functions.

Submitted April 1, 2023.

of the seventeen mock theta functions, four were of third order, ten of fifth order in two groups with five functions in each group and three of seventh order. Ramanujan did not specify what he meant by the order of a mock theta function. Later Watson [18] added three more third order mock theta functions, making the four third order mock theta functions to seven.

G.E. Andrews [4] while visiting Trinity College Cambridge University discovered some notebooks of Ramanujan, and called it the "Lost" Notebook. In the Notebook Andrews found more mock theta functions and some identities and Andrews and Hickeson [5] called them sixth order.

The partial sixth order mock theta functions of Ramanujan are:

$$\phi_{0,N}(q) = \sum_{n=0}^N \frac{(-1)^n q^{n^2} (q; q^2)_n}{(-q)_{2n}},$$

$$\psi_{0,N}(q) = \sum_{n=0}^N \frac{(-1)^n q^{(n+1)^2} (q; q^2)_n}{(-q)_{2n+1}},$$

$$\rho_{0,N}(q) = \sum_{n=0}^N \frac{q^{\frac{n(n+1)}{2}} (-q)_n}{(q; q^2)_{n+1}},$$

$$\sigma_{0,N}(q) = \sum_{n=0}^N \frac{q^{\frac{(n+1)(n+2)}{2}} (-q)_n}{(q; q^2)_{n+1}},$$

$$\lambda_{0,N}(q) = \sum_{n=0}^N \frac{(-1)^n q^n (q; q^2)_n}{(-q)_n},$$

$$\mu_{0,N}(q) = \sum_{n=0}^N \frac{(-1)^n (q; q^2)_n}{(-q)_n},$$

$$\gamma_{0,N}(q) = \sum_{n=0}^N \frac{q^{n^2} (q)_n}{(q^3; q^3)_n},$$

The partial third order mock theta functions of Ramanujan are:

$$f_{0,N}(q) = \sum_{n=0}^N \frac{q^{n^2}}{(-q)_n^2},$$

$$\phi_{0,N}(q) = \sum_{n=0}^N \frac{q^{n^2}}{(-q^2; q^2)_n},$$

$$\psi_{0,N}(q) = \sum_{n=1}^N \frac{q^{n^2}}{(q; q^2)_n},$$

$$\chi_{0,N}(q) = \sum_{n=0}^N \frac{q^{n^2}}{(1-q+q^2)\dots\dots(1-q^n+q^{2n})},$$

$$\omega_{0,N}(q) = \sum_{n=0}^N \frac{q^{2n(n+1)}}{(q; q^2)_{n+1}^2},$$

$$\nu_{0,N}(q) = \sum_{n=0}^N \frac{q^{n(n+1)}}{(-q; q^2)_{n+1}},$$

$$\rho_{0,N}(q) = \sum_{n=0}^N \frac{q^{2n(n+1)}}{(1+q+q^2)\dots\dots(1+q^{2n+1}+q^{4n+2})},$$

We give a generalization of the partial sixth order and partial third order mock theta functions. The generalized partial sixth order mock theta functions are:

$$\phi_{0,N}(t, \alpha, z; q) = \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(-1)^n (t)_n q^{n(n-3)+n\alpha} z^{2n} \left(\frac{z^2}{q}; q^2\right)_n}{\left(\frac{-z^2}{q}; q\right)_{2n}},$$

$$\psi_{0,N}(t, \alpha, z; q) = \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(-1)^n (t)_n q^{n(n-1)+n\alpha} z^{2n+1} \left(\frac{z^2}{q}; q^2\right)_n}{\left(\frac{-z^2}{q}; q^2\right)_{2n+1}},$$

$$\rho_{0,N}(t, \alpha, z; q) = \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(t)_n q^{\frac{n(n-3)}{2}+n\alpha} z^n (-z; q)_n}{\left(\frac{z^2}{q}; q^2\right)_{n+1}},$$

$$\sigma_{0,N}(t, \alpha, z; q) = \frac{1}{2(t)_\infty} \sum_{n=0}^N \frac{(t)_n q^{\frac{n(n-1)}{2}+n\alpha} z^{n+1} \left(\frac{-z}{q}; q\right)_n}{\left(\frac{z^2}{q}; q^2\right)_{n+1}},$$

$$\lambda_{0,N}(t, \alpha, z; q) = \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(t)_n (-1)^n q^{n\alpha} \left(\frac{q^3}{z^2}; q^2\right)_n}{\left(\frac{-q^2}{z}; q^2\right)_n},$$

$$\mu_{0,N}(t, \alpha, z; q) = \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(t)_n (-1)^n q^{n(\alpha-1)} \left(\frac{q^3}{z^2}; q^2\right)_n}{\left(\frac{-q^2}{z}; q\right)_n},$$

and

$$\gamma_{0,N}(t, \alpha, z; q) = \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(t)_n q^{n(n-3)+n\alpha} z^{2n}}{(v^2 z; q)_n (v^4 z; q)_n},$$

For $t = 0, \alpha = 1$, we have the generalized partial functions of Choi[9]. The generalized partial third order mock theta function are:

$$f_{0,N}(t, \alpha, \beta, z; q) = \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(t)_n q^{n^2-4n+n\beta} \alpha^n z^{2n}}{(-z; q)_n \left(\frac{-\alpha z}{q}; q\right)_n}$$

$$\phi_{0,N}(t, \alpha, \beta, z; q) = \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(t)_n q^{n^2-3n+n\beta} z^{2n}}{\left(\frac{-\alpha z^2}{q}; q^2\right)_n}$$

$$\psi_{0,N}(t, \alpha, \beta, z; q) = \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(t)_n q^{n^2-n+n\beta} z^{2n+1}}{\left(\frac{\alpha z^2}{q^2}; q^2\right)_{n+1}}$$

$$v_{0,N}(t, \alpha, \beta, z; q) = \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(t)_n q^{n^2-2n+n\beta} z^{2n}}{\left(\frac{-\alpha^2 z^2}{q^3}; q^2\right)_{n+1}}$$

$$\omega_{0,N}(t, \alpha, \beta, z; q) = \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(t)_n q^{2n^2-5n-4+n\beta} \alpha^{2n} z^{4(n+1)}}{\left(\frac{z^2}{q}; q^2\right)_{n+1} \left(\frac{\alpha^2 z^2}{q^3}; q^2\right)_{n+1}}$$

$$\chi_{0,N}(t, \alpha, \beta, z; q) = \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(t)_n q^{n^2-3n+n\beta} z^{2n}}{(vz; q)_n (-v^2 z; q)_n}$$

and

$$\rho_{0,N}(t, \alpha, \beta, z; q) = \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(t)_n q^{2n^2-3n+n\beta} z^{4n}}{\left(\frac{v^2 z^2}{q}; q^2\right)_{n+1} \left(\frac{v^{-2} z^2}{q}; q^2\right)_{n+1}}$$

where

$$v = e^{\frac{\pi i}{3}}$$

For $\beta = 1$ and $z = q$ the first five functions namely $f_{0,N}, \phi_{0,N}, \psi_{0,N}, v_{0,N}, \omega_{0,N}$ are generalized third order partial mock theta functions of Andrews[6]. For $t = 0, \beta = 1, \alpha = q$ the generalized functions $f_{0,N}, \phi_{0,N}, \psi_{0,N}$ and $\chi_{0,N}$ reduce to the third order mock theta functions of Ramanujan and $\omega_{0,N}, v_{0,N}$ and $\rho_{0,N}$ reduces to the third order mock theta functions of Watson[18].

In this study we will show that these generalized functions are F_q -functions.

2. NOTATION:

We use the following q -notation. Suppose q and z are complex numbers and n is an integer. If $n \geq 0$ we define

$$(z)_n = (z; q)_n = \prod_{i=0}^{n-1} (1 - q^i z) \text{ if } n \geq 0 \text{ and } (z)_{-n} = (z; q)_{-n} = \frac{(-z)^{-n} q^{\frac{n(n+1)}{2}}}{\left(\frac{z}{q}\right)_n}$$

and more generally $(z_1, z_2, \dots, z_r; q)_n = (z_1)_n (z_2)_n \dots (z_r)_n$.

For $|q^k| < 1$ let us define $(z; q^k)_n = (1 - z)(1 - zq^k) \dots (1 - zq^{k(n-1)})$, $n \geq 1$ $(z; q^k)_0 = 1$ and $(z; q^k)_\infty = \lim_{n \rightarrow \infty} (z; q^k)_n = \prod_{i \geq 0} (1 - q^{ki} z)$ and even more generally,

$$(z_1, z_2 \dots z_r; q^k)_\infty = (z_1; q^k)_\infty \dots (z_r; q^k)_\infty$$

A basic hypergeometric series ${}_{r+1}\Phi_r$ on base q^k is defined as

$${}_{r+1}\Phi_r \left[\begin{matrix} a_1, a_2 & \dots & a_{r+1} \\ b_1, b_2 & \dots & b_r \end{matrix} ; q^k; z \right] = \sum_{n=0}^{\infty} \frac{(a_1, a_2, \dots, a_{r+1}; q^k)_n z^n}{(q^k; q^k)_n (b_1, b_2, \dots, b_r; q^k)_n}, (|z| < 1) \tag{1}$$

and a bilateral basic hypergeometric series ${}_r\Psi_r$ is defined as

$${}_r\Psi_r \left[\begin{matrix} a_1, & \dots & a_r \\ b_1, & \dots & b_r \end{matrix} ; q, z \right] = \sum_{n=-\infty}^{\infty} \frac{(a_1, \dots, a_r; q)_n z^n}{(b_1 \dots b_r; q)_n}, \left(\left| \frac{b_1 \dots b_r}{a_1 \dots a_r} \right| < |z| < 1 \right) \tag{2}$$

The Lerch transcendental function $f(x, \xi; q, p)$ is defined by:

$$f(x, \xi; q, p) = \sum_{-\infty}^{\infty} \frac{(pq)^{n^2} (x\xi)^{-2n}}{(-p\xi^{-2}; p^2)_n} \tag{3}$$

and by

$$f(x, \xi; q, p) = \sum_{-\infty}^{\infty} (-\xi^2 p; p^2)_n q^{n^2} x^{2n} \tag{4}$$

3. THE GENERALIZED FUNCTIONS ARE F_q - FUNCTIONS:

We show that these partial generalized functions are F_q - Function.

Theorem 1

The generalized partial sixth order mock theta functions $\phi_{0,N}(t, \alpha, z; q), \psi_{0,N}(t, \alpha, z; q), \rho_{0,N}(t, \alpha, z; q), \sigma_{0,N}(t, \alpha, z; q)$ and the generalized partial third order mock theta functions $f_{0,N}(t, \alpha, \beta, z; q), \phi_{0,N}(t, \alpha, \beta, z; q), \psi_{0,N}(t, \alpha, \beta, z; q), \nu_{0,N}(t, \alpha, \beta, z; q), \chi_{0,N}(t, \alpha, z; q), \rho_{0,N}(t, \beta, z; q), \omega_{0,N}(t, \alpha, \beta, z; q)$ are F_q -Functions.

Proof:

We shall give the proof for $\phi_{0,N}(t, \alpha, z; q)$ only .The proofs for the other generalized partial mock theta functions are similar,hence omitted.

Applying the difference operator $D_{q,t}$ to $\phi_{0,N}(t, \alpha, z; q)$,we have :

$$\begin{aligned} t D_{q,t} \phi_{0,N}(t, \alpha, z; q) &= \phi_{0,N}(t, \alpha, z; q) - \phi_{0,N}(tq, \alpha, z; q) \\ &= \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(-1)^n (t)_n q^{n(n-3)+n\alpha} z^{2n} \left(\frac{z^2}{q}; q^2\right)_n}{\left(\frac{-z^2}{q}; q\right)_{2n}} - \frac{1}{(tq)_\infty} \sum_{n=0}^N \frac{(-1)^n (tq)_n q^{n(n-3)+n\alpha} z^{2n} \left(\frac{z^2}{q}; q^2\right)_n}{\left(\frac{-z^2}{q}; q\right)_{2n}} \end{aligned}$$

$$\begin{aligned}
 &= \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(-1)^n (t)_n q^{n(n-3)+n\alpha} z^{2n} \left(\frac{z^2}{q}; q^2\right)_n}{\left(\frac{-z^2}{q}; q\right)_{2n}} - \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(-1)^n (t)_n q^{n(n-3)+n\alpha} z^{2n} \left(\frac{z^2}{q}; q^2\right)_n (1-tq^n)}{\left(\frac{-z^2}{q}; q\right)_{2n}} \\
 &= \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(-1)^n (t)_n q^{n(n-3)+n(\alpha+1)} z^{2n} \left(\frac{z^2}{q}; q^2\right)_n}{\left(\frac{-z^2}{q}; q\right)_{2n}} \\
 &= t\phi_{0,N}(t, \alpha + 1, z; q).
 \end{aligned}$$

so

$$D_{q,t}\phi_{0,N}(t, \alpha, z; q) = \phi_{0,N}(t, \alpha + 1, z; q).$$

Hence $\phi_{0,N}(t, \alpha, z; q)$ is a F_q -function.

As stated earlier the proofs for other partial generalized functions are similar,so omitted.

4. RELATION BETWEEN THE GENERALIZED PARTIAL SIXTH ORDER MOCK THETA FUNCTIONS AND GENERALIZED PARTIAL THIRD ORDER MOCK THETA FUNCTIONS:

Theorem 2

- (i) $\phi_{0,N}(t, \alpha, z; q) = \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(-1)^n (t)_n q^{n(n-3)+n\alpha} z^{2n} \left(\frac{z^2}{q}; q^2\right)_n}{\left(\frac{-z^2}{q}; q\right)_{2n}} + \frac{z}{q} \psi_{0,N}(t, \alpha, z; q).$
- (ii) $\sigma_{0,N}(t, \alpha, z; q) = \frac{z}{2} \left(1 + \frac{z}{q}\right) D_{q,t} \rho_{0,N}(t, \alpha, z; q).$
- (iii) $D_{q,t} \phi_{0,N}(t, \alpha^2, \beta, z; q) = \left(1 + \frac{\alpha^2 z^2}{q^3}\right) \nu_{0,N}(t, \alpha, \beta, z; q).$
- (iv) $\psi_{0,N}(t, \frac{-\alpha^2}{q}, \beta, z; q) = z D_{q,t} \nu_{0,N}(t, \alpha, \beta, z; q).$

Proof of (i)

$$\begin{aligned}
 \phi_{0,N}(t, \alpha, z; q) &= \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(-1)^n (t)_n q^{n(n-3)+n\alpha} z^{2n} \left(\frac{z^2}{q}; q^2\right)_n (1+z^2 q^{2n-1})}{\left(\frac{-z^2}{q}; q\right)_{2n+1}} \\
 &= \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(-1)^n (t)_n q^{n(n-3)+n\alpha} z^{2n} \left(\frac{z^2}{q}; q^2\right)_n}{\left(\frac{-z^2}{q}; q\right)_{2n+1}} + \frac{z}{q} \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(-1)^n (t)_n q^{n(n-3)+n\alpha} z^{2n} \left(\frac{z^2}{q}; q^2\right)_n}{\left(\frac{-z^2}{q}; q\right)_{2n+1}} \\
 &= \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(-1)^n (t)_n q^{n(n-3)+n\alpha} z^{2n} \left(\frac{z^2}{q}; q^2\right)_n}{\left(\frac{-z^2}{q}; q\right)_{2n+1}} + \frac{z}{q} \psi_{0,N}(t, \alpha, z; q)
 \end{aligned}$$

Which proves Theorem 2 (i).

Proof of (ii)

$$\begin{aligned}
 \rho_{0,N}(t, \alpha, z; q) &= \frac{z \left(1 + \frac{z}{q}\right)}{2(t)_\infty} \sum_{n=0}^N \frac{(t)_n q^{\frac{n(n-1)}{2}+n\alpha} z^n (-z; q)_n}{\left(\frac{z^2}{q}; q^2\right)_{n+1}} \\
 &= \frac{z}{2} \left(1 + \frac{z}{q}\right) D_{q,t} \rho_{0,N}(t, \alpha, z; q).
 \end{aligned}$$

Which proves Theorem 2 (ii).

Proof of (iii)

Writing α^2 for α in $\phi_{0,N}(t, \alpha, \beta, z; q)$, we have

$$D_{q,t}\phi_{0,N}(t, \alpha^2, \beta, z; q) = \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(t)_n q^{n^2-2n+n\beta} z^{2n}}{\left(\frac{-\alpha^2 z^2}{q}; q^2\right)_n} = \left(1 + \frac{\alpha^2 z^2}{q^3}\right) \nu_{0,N}(t, \alpha, \beta, z; q)$$

Which proves Theorem 2 (iii).

Proof of (iv)

Writing $\frac{-\alpha}{q}$ for α and then α^2 for α in $\psi_{0,N}(t, \alpha, \beta, z; q)$, we have

$$\psi_{0,N}(t, \alpha^2, \beta, z; q) = \frac{z}{(t)_\infty} \sum_{n=0}^N \frac{(t)_n q^{n^2-2n+n\beta} z^{2n}}{\left(\frac{-\alpha^2 z^2}{q^3}; q^2\right)_{n+1}} = z D_{q,t} \nu_{0,N}(t, \alpha, \beta, z; q)$$

which proves Theorem 2(iv).

5. Q-INTEGRAL REPRESENTATION FOR THE GENERALIZED PARTIAL SIXTH ORDER MOCK THETA FUNCTION AND GENERALIZED PARTIAL THIRD ORDER MOCK THETA FUNCTIONS:

The q-integral was defined by Thomas and Jackson[11,p.23] as

$$\int_0^1 f(t) d_q t = (1-q) \sum_{n=0}^{\infty} f(q^n) q^n$$

We now give the q-integral representation for the generalized sixth order mock theta functions and also for generalized third order mock theta functions.

Theorem 3(a)

$$(i) \phi_{0,N}(q^t, \alpha, z; q) = \frac{(1-q)^{-1}}{(q; q)_\infty} \int_0^1 \omega^{t-1}(\omega q; q)_\infty \phi_{0,N}(0, a\omega, z; q) d_q \omega.$$

$$(ii) \psi_{0,N}(q^t, \alpha, z; q) = \frac{(1-q)^{-1}}{(q; q)_\infty} \int_0^1 \omega^{t-1}(\omega q; q)_\infty \psi_{0,N}(0, a\omega, z; q) d_q \omega.$$

$$(iii) \rho_{0,N}(q^t, \alpha, z; q) = \frac{(1-q)^{-1}}{(q; q)_\infty} \int_0^1 \omega^{t-1}(\omega q; q)_\infty \rho_{0,N}(0, a\omega, z; q) d_q \omega.$$

$$(iv) \gamma_{0,N}(q^t, \alpha, z; q) = \frac{(1-q)^{-1}}{(q; q)_\infty} \int_0^1 \omega^{t-1}(\omega q; q)_\infty \gamma_{0,N}(0, a\omega, z; q) d_q \omega.$$

$$(v) \sigma_{0,N}(q^t, \alpha, z; q) = \frac{(1-q)^{-1}}{(q; q)_\infty} \int_0^1 \omega^{t-1}(\omega q; q)_\infty \sigma_{0,N}(0, a\omega, z; q) d_q \omega.$$

Proof

We shall give the detailed proof for $\phi_{0,N}(q^t, \alpha, z; q)$. The proof for the other functions are similar,so omitted.

Limiting case of q-beta integral [11,p.23(1.11.7)] is

$$\frac{1}{(q^x; q)_\infty} = \frac{(1-q)^{-1}}{(q; q)_\infty} \int_0^1 t^{x-1} (tq; q)_\infty d_q t.$$

Now

$$\phi_{0,N}(t, \alpha, z; q) = \frac{1}{(t)_\infty} \sum_{n=0}^N \frac{(-1)^n (t)_n q^{n(n-3)+n\alpha} z^{2n} (\frac{z^2}{q}; q^2)_n}{(-\frac{z^2}{q}; q)_{2n}},$$

Replacing t by q^t and q^α by a,we have

$$\begin{aligned} \phi_{0,N}(q^t, \alpha, z; q) &= \frac{1}{(q^t)_\infty} \sum_{n=0}^N \frac{(-1)^n (q^t)_n q^{n(n-3)+n\alpha} z^{2n} (\frac{z^2}{q}; q^2)_n}{(-\frac{z^2}{q}; q)_{2n}}, \\ &= \sum_{n=0}^N \frac{(-1)^n q^{n(n-3)+n\alpha} z^{2n} (\frac{z^2}{q}; q^2)_n}{(-\frac{z^2}{q}; q)_{2n}} \frac{(1-q)^{-1}}{(q; q)_\infty} \int_0^1 \omega^{n+t-1} (\omega q; q)_\infty d_q \omega, \\ &= \frac{(1-q)^{-1}}{(q; q)_\infty} \int_0^1 \omega^{t-1} (\omega q; q)_\infty \sum_{n=0}^N \frac{(-1)^n (t)_n q^{n(n-3)+n\alpha} z^{2n} (\frac{z^2}{q}; q^2)_n}{(-\frac{z^2}{q}; q)_{2n}} (a\omega)^n d_q \omega \quad (5) \end{aligned}$$

But

$$\phi_{0,N}(0, \alpha, z; q) = \sum_{n=0}^N \frac{(-1)^n q^{n(n-3)+n\alpha} z^{2n} (\frac{z^2}{q}; q^2)_n}{(-\frac{z^2}{q}; q)_{2n}},$$

and since $q^\alpha = a$,

$$\phi_{0,N}(0, a, z; q) = \sum_{n=0}^N \frac{(-1)^n (a)^n q^{n(n-3)} z^{2n} (\frac{z^2}{q}; q^2)_n}{(-\frac{z^2}{q}; q)_{2n}},$$

Hence

$$\phi_{0,N}(0, a\omega, z; q) = \sum_{n=0}^N \frac{(-1)^n (a\omega)^n q^{n(n-3)} z^{2n} (\frac{z^2}{q}; q^2)_n}{(-\frac{z^2}{q}; q)_{2n}}, \quad (6)$$

By using (5.1),(5.2) can be written as

$$\phi_{0,N}(q^t, \alpha, z; q) = \frac{(1-q)^{-1}}{(q; q)_\infty} \int_0^1 \omega^{t-1} (\omega q; q)_\infty \phi_{0,N}(0, a\omega, z; q) d_q \omega.$$

which proves (i). The proofs for all other functions are similar.

Theorem 3(b):

The q-integral representation for the generalized partial third order mock theta functions:

$$(i) f_{0,N}(q^t, \alpha, \beta, z; q) = \frac{(1-q)^{-1}}{(q; q)_\infty} \int_0^1 \omega^{t-1} (\omega q; q)_\infty f_{0,N}(0, a, a\omega, z; q) d_q \omega.$$

$$(ii)\phi_{0,N}(q^t, \alpha, \beta, z; q) = \frac{(1-q)^{-1}}{(q; q)_\infty} \int_0^1 \omega^{t-1}(\omega q; q)_\infty \phi_{0,N}(0, a, a\omega, z; q) d_q \omega.$$

$$(iii)\psi_{0,N}(q^t, \alpha, \beta, z; q) = \frac{(1-q)^{-1}}{(q; q)_\infty} \int_0^1 \omega^{t-1}(\omega q; q)_\infty \psi_{0,N}(0, a, a\omega, z; q) d_q \omega.$$

$$(iv)\nu_{0,N}(q^t, \alpha, \beta, z; q) = \frac{(1-q)^{-1}}{(q; q)_\infty} \int_0^1 \omega^{t-1}(\omega q; q)_\infty \nu_{0,N}(0, a, a\omega, z; q) d_q \omega.$$

$$(v)\chi_{0,N}(q^t, \alpha, \beta, z; q) = \frac{(1-q)^{-1}}{(q; q)_\infty} \int_0^1 \omega^{t-1}(\omega q; q)_\infty \chi_{0,N}(0, a, a\omega, z; q) d_q \omega.$$

$$(vi)\rho_{0,N}(q^t, \alpha, \beta, z; q) = \frac{(1-q)^{-1}}{(q; q)_\infty} \int_0^1 \omega^{t-1}(\omega q; q)_\infty \rho_{0,N}(0, a, a\omega, z; q) d_q \omega.$$

$$(vii)\omega_{0,N}(q^t, \alpha, \beta, z; q) = \frac{(1-q)^{-1}}{(q; q)_\infty} \int_0^1 \omega^{t-1}(\omega q; q)_\infty \omega_{0,N}(0, a, a\omega, z; q) d_q \omega.$$

Proof:

The proofs are similar to given above for $\phi_{0,N}(q^t, \alpha, z; q)$, so the Theorem 3(b) follows.

6. REPRESENTATION IN TERMS OF LERCH TRANSCENDENTAL FUNCTION

The bilateral mock theta functions corresponding to third order mock theta functions were studied by S.D. Prasad [13]. We now express some of these functions in terms of Lerch transcendental functions by means of the following lemma of M Ahmad [3].

Lemma 6.1 For $\epsilon = \pm 1$,

$$\sum_{n=-\infty}^{\infty} (-1)^{rn} \frac{q^{\alpha n^2} q^{\beta n}}{(\epsilon q^\gamma; q^\delta)_n} = f(i^r (-\epsilon)^{-1/2} q^{\frac{2\gamma-2\beta-\delta}{4}}, (-\epsilon)^{1/2} q^{\frac{\delta-2\gamma}{4}}; q^{\frac{2\alpha-\delta}{2}}, q^{\frac{\delta}{2}}). \tag{7}$$

and

$$\sum_{n=-\infty}^{\infty} (-1)^{rn} (-q; q^\gamma)_n q^{\alpha n^2} q^{\beta n} = f(i^r q^{\frac{\beta}{2}}, q^{\frac{2-\gamma}{4}}; q^\alpha, q^{\frac{\gamma}{2}}). \tag{8}$$

Proof. The proof follows from direct substitution and use of basic hypergeometric transformations. □

we now express the following bilateral 3rd order mock theta functions as Lerch transcendental functions

A mock theta function is expressed in terms of a series from 0 to ∞ , whereas the corresponding bilateral mock theta is the same series from $-\infty$ to ∞ .

$$\phi_{0,c}(q) = \sum_{-\infty}^{\infty} \frac{q^{n^2}}{(-q^2; q^2)_n} = f(-q^{\frac{1}{2}}, q^{-\frac{1}{2}}; 1, q) \text{ by taking } \alpha = 1, \beta = 0, \epsilon = -1, \gamma = 2, \delta = 2, r = 2 \text{ in equation (3.1)}$$

$$\psi_{0,c}(q) = \sum_{-\infty}^{\infty} \frac{q^{n^2}}{(q; q^2)_n} = f(i, i; 1, q) \text{ by taking } \alpha = 1, \beta = 0, \epsilon = 1, \gamma = 1, \delta = 2, r = 2 \text{ in equation (3.1)}$$

$v_0, c(q) = \frac{1}{1+q} \sum_{-\infty}^{\infty} \frac{q^{n^2+n}}{(-q^3; q^2)_n} = \frac{1}{1+q} f(-q^{\frac{1}{2}}, q^{-1}; 1, q)$ by taking $\alpha = 1, \beta = 1, \epsilon = -1, \gamma = 3, \delta = 2, r = 2$ in equation (3.1)

Conclusions: Mock theta functions are mysterious functions. These investigations will be helpful in understanding more about these partial mock theta functions. Being shown that they belong to the class of F_q -functions and properties are established for the partial mock theta functions and relations between these partial mock theta functions may also be derived.

Acknowledgement: *Author*¹ (MCN IU/R & D/2023-MCN0002211) and *Author*² are thankfully acknowledge the support of the Integral University, Lucknow, India and *Author*³ (Corresponding Author) gratefully acknowledge the kind support of National Defence Academy Khadakwasla Pune India .

REFERENCES

- [1] R.P. Agarwal,, Mock Theta Functions- an analytical point of view ,Proc. Nat. Acad. Sci. India Sect.A,64 (1994),95-107.
- [2] S. Ahmad Ali,A Continued Fraction For Second Order Mock Theta Functions,International journal of Mathematical Analysis Vol.9,2015,no.24,1187-1189.
- [3] M Ahmad, Properties of Bilateral Mock Theta functions of General Order , Applied Analysis and optimization , Yokohama Publisher,Japan,5(1) 2021, 109-116.
- [4] .G.E.Andrews,On basic hypergeometric mock theta functions and partitions(1),Quart.J.Math.17(1966)64-80.
- [5] G.E. Andrews and D Hickerson,Ramanujan's "lost" notebook VII.The sixth order mock theta and functions, Adv. Math.,89 (1991),60-105.
- [6] G.E.Andrews, and B.C.Berndt,Ramanujan's 'Lost' Notebook Part II,Springer New York (2009).
- [7] G.E.Andrews, and B.C.Berndt,Ramanujan's 'Lost' Notebook Part II,Springer New York (2009).
- [8] Y.S.Choi,Tenth order Mock Theta Functions in Ramanujan's lost notebook IV,Trans. Amer. Math.Soc.354(2002) 707-733.
- [9] Y.S.Choi ,The Basic Bilateral Hypergeometric Series and the Mock Theta Functions,Ramanujan J. 24(2011) 345-386.
- [10] N.J. Fine, .,Basic Hypergeometric Series and Applications;Mathematical Surveys and Monographs,American Mathematical Society,27(1988).
- [11] G. Gasper & M. Rahman, Basic Hypergeometric Series, 2nd ed, Cambridge University Press Cambridge (UK), 2004.
- [12] A. Gupta,, On Certain Ramanujan's Mock Theta Functions,Proc. Indian Acad. Sci. Math. Sci.,103 (1993),257-267.
- [13] S. D. Prasad, Certain extended mock theta functions and generalized basic hypergeometric transformation, Math Scand **27** (1970), 237-244.
- [14] S.Ramanujan ,collected papers,Cambridge University Press,1972,reprinted Chelsea,New York (1962).
- [15] Sameena Saba.,A Study of generalization of Ramanujan's third order and Sixth order mock theta functions,Applied Mathematics,2(5),157-165(2012).
- [16] A.K Srivatava, ., Certain Continued Fraction Representation For Functions Association With Mock Theta Functions Of Order Three,Kodai Math.J.25(2002),278-287).
- [17] B. Srivastava, .,A Study Of New Mock Theta Functions,Tamasui Oxford Journal Of Information and Mathematical Science,29(1),(2013),77-95.
- [18] G.N.Watson,The final problem:an account of the mock theta functions,J.London Math.Soc.,11(1936)55-80.

SWAYAMPRABHA TIWARI
DEPARTMENT OF MATHEMATICS AND STATISTICS,, FACULTY OF SCIENCE, INTEGRAL UNIVERSITY,
LUCKNOW-226026, INDIA
Email address: swyam6288@gmail.com

SAMEENA SABA
DEPARTMENT OF MATHEMATICS AND STATISTICS,, FACULTY OF SCIENCE, INTEGRAL UNIVERSITY,
LUCKNOW-226026, INDIA
Email address: sameena9554@gmail.com

*MOHAMMAD AHMAD(CORRESPONDING AUTHOR)
DEPARTMENT OF MATHEMATICS NATIONAL DEFENCE ACADEMY PUNE,INDIA
Email address: mahmad.786@rediffmail.com